
Pumps

72

Pu
m

ps

CENTRIFUGAL PUMP FOR COUNTER - CURRENT SWIMMING  
1.450/2.850 RPM GRAN SERIES

ACQUASOURCE
PRODUCTION

MODELS
•	 GRAN-250
•	 GRAN-300
•	 GRAN-400
•	 GRAN-550
•	 GRAN-750
•	 GRAN-1000

•	 GRAN-550B
•	 GRAN-750B
•	 GRAN-1000B
•	 GRAN-1250B
•	 GRAN-1500B

No. Description Quantity Code

1 Flanged suction cover 1 92402055
2 Pre-filter body nut din. 934 M-16 A-2 antigrip treat. 4 96325074
4 Nut din. 934 M-10 A-2 antigrip treat. 6 96325050
5 Washer din. 9021M-10 A-2 4 96333017
6 Nut din. 933 M10X 30 A-2 4 96304406
7 Pump base MASC 1 92402052
8 Nut din. 934 M-10 A-2 antigrip treat. 6 96325050

9
MASC Rubber shim 3-4 HP (30X49X57) 1 92402089
MASC Rubber shim 5,5 HP (30X49X45) 1 92402090
MASC Rubber shim 7,5-15 HP (30X49X25) 1 92402091

10

Screw din. 7982 ST 4,8X32 A-2
For 300/400
For 550/750/1000
For 1250/1500

1
4
1

96310133

Screw din. 7982 ST 4,8X45 A-2 (for 300/400) 1 96310139
Screw din. 7982 ST 4,8X80 A-2  (for 1250/1500) 1 96310151

1

2

4

5 6

7

8

21

20

24
23 9 10

14 15

38
30 17

18

12 13

16
19

43
46

48

47
4544

3740
41
42

11A
11B

3635
3134

22
33

32



Pumps

73

Pu
m

ps

No. Description Quantity Code

12
Impeller plug+screw MASC INOX M10X20 A-4 1 92402079
Impeller plug+screw MASC PLASTIC M10X20 A-2 1 92402080
Impeller plug+screw MASC GRIVORY M10X20 A-2 1 92402652

13 Impeller plug O’Ring MASC 1 92402088

14

Impeller MASC 300 NORYL 1 92402059
Impeller MASC 400 NORYL 1 92402060
Impeller MASC 550 NORYL 1 92402061
Impeller MASC 750 NORYL 1 92402062
Impeller MASC 1000 NORYL 1 92402063
Impeller MASC 250 NORYL 1 92402065
Impeller MASC 550B BRONZE 1 92402072
Impeller MASC 750B BRONZE 1 92402073
Impeller MASC 1000B BRONZE 1 92402074
Impeller MASC 1250B BRONZE 1 92402077
Impeller MASC 1500B BRONZE 1 92402078

15

Mech. seal 30 L (MASC/GRAN) NORYL imp. 1 9012330L
Mech. seal 32 L (AISI 316) (MASC/GRAN) BRONZE imp. 1 9012332L
Mech. seal carb. silic D.30 (MASC) (316) PLASTIC imp. 1 9012430L
Mech. seal carb. silic D.32 (MASC) (316) BRONZE imp. 1 9012432L

16 Pump body cover joint MASC (291,5X7) 1 92402086

17 Pump body cover MASC 300/400/550 1 92402098
Pump body cover MASC 750/1500 1 92402099

18 Screw din. 912 M10X30 A-2 1 96303196
19 Screw din. 912 M10/120 A-2 1 96303235
20 Pump body MASC 1 92402054
21 Pre-Filter body O’Ring MASC (120X7) 1 92402085
22 Screw din. 933 M10X 40 A-2 (For 750-1500) 4 96304514
30 Antivolute MASC (1.450 rpm) 300/400 1 92402093
31 Pin din. 6885 6X6X25 A-4 MASC 1 96401205

32/46 Retainer VA-030 MASC mec. 100 (300/400) 2 92402124
Retainer VA-040 MASC mec. 132 2 92402125

33
Front motor cover mec. 100 (300/400) 1 92402148
Front motor cover mec. 112 (550) 1 92402150
Front motor cover mec. 132 (750/1500) 1 96310133

38 Screw din. 7982 ST 4,8X32 A-2 1 96310133

40 Junction cover seal mec. 100 MASC 1 92402122
Junction cover seal mec. 112 & 132 MASC 1 92402123

41 Junction cover MASC mec. 100 1 92402120
Junction cover MASC mec. 112 & 132 1 92402121

44
Motor rear cover MASC mec. 112 (550) 1 92402156
Motor rear cover MASC mec. 132 (750/1500) 1 92402157
Motor rear cover MASC mec. 100 (300/400) 1 92500120

47
Fan MASC mec. 112 1 92402137
Fan MASC mec. 132 1 92402138
Fan MASC mec. 100 1 92500111

48
Fan cover MASC mec. 112 1 92402133
Fan cover MASC mec. 132 1 92402134
Fan cover MASC mec. 100 1 92500117

11A Volute MASC (1.450 rpm) 550/750/1000 1 92402057
11A Volute MASC (1.450 rpm) 300/400 1 92402094
11B Volute MASC (2.850 rpm) 1250/1500 1 92402058

33-48

Motor IE3 3 CV MASC 1.450 rpm 230/400 1 92402030
Motor IE3 4 CV MASC 1.450 rpm 230/400 1 92402031
Motor IE3 5,5 CV MASC 1.450 rpm 230/400 1 92402032
Motor IE3 7,5 CV MASC 1.450 rpm 230/400 1 92402034
Motor IE3 7,5 CV MASC 1.450 rpm 400/690 1 92402035
Motor IE3 10 CV MASC 1.450 rpm 230/400 1 92402036
Motor IE3 10 CV MASC 1.450 rpm 400/690 1 92402037
Motor IE3 15 CV MASC 2.850 rpm 230/400 1 92402038
Motor IE3 15 CV MASC 2.850 rpm 400/690 1 92402039

34-36 Bearing MASC 250-550 2 92402131
Bearing MASC 750-1500 2 92402132

S/N

Connection box MASC mec. 100 & 112 1 92402126
Connection box MASC mec. 132 1 92402127
Connection box MASC mec. 100 & 112 1 92402143
Prensacable MASC mec. 132 1 92402144


